
FOREIGN EXCHANGE RISK AND FORECASTINGPRIVATE 

TYPES OF FX RISK
1. Translation exposure

Balance Sheet of Tokyo Surf
(million yen)

June 30

Assets





Liabilities
Cash


 ¥100

Debt

 ¥500

Accounts rec.
  300

Equity

  600

Plant & eqpt.
  500

Inventory

  200





______




______





¥1100




¥1100

June 30
(¥100=$1)

Assets





Liabilities
Cash


 $100,000
Debt

 $500,000

Accounts rec.
  300,000
Equity

  600,000

Plant & eqpt.
  500,000


Inventory

  200,000





________



_________





$1,100,000


$1,100,000

July 31
(¥90=$1)

Assets





Liabilities
Cash


 $111,111
Debt

 $555,555

Accounts rec.
  333,333
Equity

  666,667

Plant & eqpt.
  555,556


Inventory

  222,222





________



________





$1,222,222


$1,222,222

Note that yen appreciation results in higher owner's equity for the parent firm

2. Transaction exposure

USA Surf has a ¥5,000,000 payment due from a client in Tokyo in 60 days.  At current exchange rate of ¥100=$1, the payment is worth $50,000

*what is future value?

3. Economic exposure

*value of firm (present value of domestic currency future cash flows)

Hedge by 

*forwards, futures, options 

*borrowing and lending

*invoicing currency choice

*cash management

RISK PREMIUM

Forward rate is biased predictor of future spot rates if risk premium exists

If investors are risk averse and risk exists, then we expect a risk premium

Effective return on foreign investment:

foreign interest rate adjusted for the expected change in the exchange rate

(1+i$)(Et+1*/Et)

this need not equal (1+i¥) due to FX risk

Adjust IRP equation to show FX risk premium:

(i¥-i$)/(1+i$) - (Et+1*-Et)/Et = 

(F-Et)/Et - (Et+1*-Et)/Et
(i¥-i$)/(1+i$) - (Et+1*-Et)/Et = (F-Et+1*)/Et
Suppose i$=.05,  i¥=.04,  Et=100, F=99.0476, Et+1*=101

What is the expected change in the exchange rate?

(Et+1*-Et)/Et = (101-100)/100= .01

What is the risk premium?

(F-Et+1*)/Et = (99.0476-101)/100 = -.0195

What is the forward premium?

(F-Et)/Et = (99.0476-100)/100 = -.0095

The forward premium underpredicts the expected change in the spot rate

The forward rate is a biased predictor of future spot rates

What is the expected return from holding a U.S. bond?

(1+i$)Et+1*/Et = (1.05)101/100 = 1.0605

so expected return is 6.05% and exceeds Japanese return of 4%

*this is consistent with equilibrium when there is a risk premium

An efficient market will have financial asset prices reflect all available 

information

*prices will adjust quickly to new information

*the fact that forward rates are poor predictors of future spot rates indicates nothing about market efficiency

